EARAROBEEIERT — 2 N— IBISH —F

20145%2H90 (B) 19E1AE2H

m‘}%TTEE‘ C1 #5%3K®kL B
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ho /3457 o6 S%E_E!(H)JIIE-,‘& 1:(3_0).5 2-2-2-2 |37.5| — 4 472 #ii ((°329)
v 25T BXVAIEY > (-4) TS
N W Fe TaE :30. -1-1- . = AB®Y (158)
JrA4—70LY > i 54.0 . &?% e are ? g;um%ﬁ -
RTNFNTL2 BT A—AYF—T T94T7— I
MLLGATULE it 5 EEEEET‘E 1:(37l>.8 6-5-5-5 |38.1| — 1 464 Eé?g (#E8)
QUL TETIALR BU—ESTH oy b ) Esrr—n
o % . o . 5
79 ET X i 4 sﬁﬁ%& 1(.13/12.)9 3-3-3-3 | 38.6 3 (4_276) Za%%ﬂ ((:329)
RFFHRFFLA B:ALANFAT /=¥ Ir 4L
S S _ 4 5 | MEER 1:31.9 4-4-4-4 | 38.6| — 5 414 | WES (£B)
5|55 | HH—%v cHZ 54.0 (7€) (o) |RAXT
A4 TAT v — B:xI—-XTa2Il— (B) #B—-KL—>ya3>@qE77
S = & 7K TER :33. 86— X - BESE (158)
6 4| NFAIVE =T I gg&o ! (3:) 0 5866 | 391 8 ?_537) ERHFIEL a
RFFHRFFLT BV w R TN REHIS
o =32 134, —6-7- . — hEFE (£8)
lglg| 7wy B4 Ngi 1(3;)0 5-6-7-7 | 40.0 6 z:g;t B "
iV RKYZYRXIR B:AHLNY vy kel
S = o > KEHFER :34. -9-9- . - AT (£8)
alalg| 37 70rs42 6| AR 1(33/:2)1 9-9-9-8 |39.2 7 (4_958) $EE_E;
R:7V%EF BISANARAYZ HET7—L
N — - DS :34. —7-8- . — =/EEAN (EE)
9l7/7 1 E2a—71777— s 54% 1(324)5 TIE9 404 ’ f; x;%fill .
L:drzZaAr BiARNT4y7T7A— repiis
® I—F—@EBIERL
13—+— 3,2,6,5,8,1,7,4,9
20—4— 3,2,6,5,1,8,7,4,9
3T—7— 3,2,6,5,1,4,8,7,9
43—+ — 3,2,6,5,1,4,8,9,7
[ N5
B 2 1,090 794K 2-3 160 & 2-3 580 &R 1-2-3 300F4
# B 2 1304 1-2 240 B E 2=3) 620 EE 2-3-1 4,070M
3 1009 1-3 130 B H 2-3 2,790
1 1009

ABICOVWTRDTEEERROODE. TR LIV,




